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RTL-8139 &1X? -- watchdog ##L T --

Realtek t:® Ethernet RT7 A/ NEFRINTWVDLDN, rtl8139 D7 7 A /LTI,

Ethernet &3, BHIZE 213 LAN OFGRO N N— K7 =7 TN, ZHEIneD
THWBIRD T (SEWHEERDO T, HOTHEN WS ETHARATFIN,

ZDOrtl-8139 OH THOI watchdog NEFTEI N TUVET,

— %2, Watchdog X FERZA~—] &EHMEITNTOET AR,

FERIL, EHC= 2852208, FHPZLTWVD]

BRIz T=H ) 2HF7e0nE, BERBEZHT,

BRMN TV 2L 62720 EW) Z &, fAVEICMPRENBELZSAETH
2o

SFEY ., (BRABERS] O, AONEORE] 2RI LA TH S,
EWVNS ZENDL, AN LDRAZTEZENTHE NS L0 G, TFWEDORLE | 22548
HIOT [FREA~—] ZHENET,

TV EMERMCIX, a7 R8T =X L0, BELEZY LESEAIC, BERIA~—
HDEEIL, ZHICE-T, ZV—XDFREREZTY R\, BE LV AT a2 )Y
FL7ZW LT, VAT ADORLEERNZERY BRE £,

LLFIE. rl_watchdog_f OHE T A3,




if (rep->re_tx_alive)

{
rep-»re_tx_alive= FALSE:
continue:
by
printf("rl1_watchdog_f: resetting port »dsn", i);
printf(

“TSAD: Oxx@4x, TSD: Gw08x, Gw08x, Goos08x, Oxxx08x\n",
rl_inw(rep->re_base_port, RL_TSAD),
rl_inl(rep->re_base_port, RL_TSDO+0=4),

rl_inl(rep->re_base_port, RL_TSDO+1=4),

rl_inl(rep->re_base_port, RL_TSDO+Z=4),
rl_inl(rep->re_base_port, RL_TSDO+3=4)):
printf ("tx_head »d, tx_tail »d, busy: »d xd »d =ds\n",
rep-»re_tx_head, rep-rre_tx_tail,
rep->re_tx[0].ret_busy, rep->re_tx[1]l.ret_busy,
rep->re_tx[Z].ret_busy, rep->re_tx[3]1.ret_busyl:
rep->re_need_reset= TRUE:
rep->re_got_int= TRUE:
interrupt(rl_tasknr):
¥

Z® Ethernet BAfRD A2 watchdog MEZEINTWVDH DL, LAN DR— F &@LU T
DEFTT—Z2HRMLCTVD L) ICFDET,

IH LT u T aEHRDEGAE. FRSNTWS B4 0 TA R854 (2

EHL, ZRENREAREREFFOEL N ETHITNE LT,

raé,flilj\ v 77— ®rﬁ$&%ﬂjjj LTI/\E)@ZPHJL%‘EAXME)TL/J: 5 2

Tav ADAERE G E 7 e ZADOIREE

/fusr/src/mm (A FEVUEM) |2, forkexit.c EWIHI T 7 ANLNHY £7,
D77 ANDdo_fork(O)E W TT ot ADERMICET LU AZIT - TWET,

e AFVEIZZOEENG DO TL LI [Tk x RNEREINE & EI2X

EOT L ABMENT ATV EFICE T HUERD Y, £, [T ot g
T—=T] HbAEVICHHEZDIC, [AFVEH] TEICZOHEELZITV., TOEA
H—=FNRT 7 A IV AT MBI HiEEE L > TWET,

LT oML, do_forkO) OBAMBKE T T 2RIONIE (74— 27 B3P L TR D RID
L) CTFm™, 99ITHD AL NT, [I—NET 7 ANV AT AT, (KEILTD)
FORK [ZOWTEET 5, ] EEhNTWET, AEVEFHT, ﬁt&7mtxﬁ%%
U OB ENRI LTI, ZORERE D —F NV ET 7 ANV AT JMIEHM L TNE
ERS



REI% do_fork QO 23BHEAT A DX 3 44THTT N, ZD99ITHETT &, ATV D
WEEAZFHE LY, TR 2 L7Z0 LTWET,

rmc->mp_sigstatus = 0;

#% Find a free pid for the child and put it in the table. =~

do {
t = 0: s% "t’ = 0 means pid still free =~
next_pid

= (next_pid < 30000 7 next_pid + 1 : INIT_PID + 1);
for (rmp = &mprocl®]: rmp < &mproc[NR_PROCS]1: rmp++)
if (rmp->mp_pid == next_pid ii rmp->mp_procgrp == next_pid) {
t = 1:
break:
¥
rmc—>mp_pid = next_pid: /= assign pid to child =~

} while (t):

_= Tell kernel and file system about the (now successful) FORK. =~
sys_fork(who, child_nr, rmc->mp_pid):
tell_fs(FORK, who, child_nr, rmc->mp_pid):

»» Report child’s memory map to kermel. =~
sys_newmap(child_nr, rmc->mp_seqg);:

## Reply to child to wake it up. =~
setreplyl(child_nr, 0):
return(next_pidl: /= child's pid =~

100 fTHICRHE#HE SN TWD sys_forkQOlX, A4 77V IcE&ENTWET,

/usr/include/minix/syslib®DHiZ&H 5 7 7 A /L sys_fork.c TEFZRIINLTNE
E

Z DB Tl taskcall Z=2—/L L, taskcall TiL, sendrec TV AT AFI DAL
ERAIETOETN, UL NEE 2 — L Th 5720, [FEEEE 51 121X SYSTASK(-2)
DENVIL I TWET,

FL—Z2DOBPEZEME L ETHN, sys_fork 726 I L7 FORK O ff 1%,

/usr/src/kernel/system.c TR—U 7 LTWS7at A, [sys_task] IZFE
SNET,

Z 2T, W VN TOMLENBRB SN ET,

207 1TH, I—/VNTIL, proc LW IHMERTT mEAZEHL TVWETR, 20D
SRS, D=V TOT 0 2R 2T > TOLSERBRE ST ET,

/usr/src/kernel/proc.h TOMIERER T, EARIERN I — NV TEEHINT
WAHMNREE STV ET,



int p_nr: #* number of this process (for fast access) =/

char p_int_blocked: ## nonzero if int msg blocked by busy task =~
char p_int_held: #» nonzero if int msg held by busy syscall =~
struct proc =p_nextheld: +# next in chain of held-up int processes =~
int p_flags: »# SENDING, RECEIVUING, etc. =~

struct mem_map p_map[NR_SEGS]1.- = memory map =~

pid_t p_pid: #» process id passed in from MM =~

int p_priority: % task, SEerver, or User process -

clock_t user_time: s#% user time in ticks =~

clock_t sys_time: s# zys time in ticks =~

clock_t child utime: % cumulative user time of children =~
clock_t child_stime: s# cumulative sys time of children =~

3BITHDO p_nrid, 7o B RIZEBEEZEZELT-ODO T vt 2K,

39 THD p_flags I3, e ADREEERS 7 77T, #HRECTRSIATY
L I7av2oiRig] LHEELTLIEZEW, (29 L, 7us T ARt EiE
BERFORM E —B T D851, IEFICRBRICH LTV - - )

44 1TH TIL, user time in ticks W) a X hOENLNIZLEHNH Y £,

o, Fut ZAOREBOKRES T, MEREEOT S TICERSNLTNET,

sigset_t p_pending: ## bit map for pending signals =~
unsigned p_pendcount: +* count of pending and unfinished signals =~
char p_namell161]: +# name of the process =/

¥

# Guard word for task stacks. =~

#def ine STACK_GUARD ((reg_t) (sizeof(reg_t) == 2 7 OxBEEF : OxDEADBEEF))
# Bits for p_flags in procll. A process is runnable iff p_flags == Q. =/
def ine NO_MAP Bx01 s* keeps unmapped forked child from runming =~
def ine SENDING Ox02 +=* set when process blocked trying to send =~
def ine RECEIVING Bx04 +# zet when process blocked trying to recv =~
def ine PENDING Bx08 s% gset when inform() of signal pending =~
define SIG_PENDING 0x10 += keeps to-be-signalled proc from running =~
define P_STOP OxZ0 +# zet when process iz being traced =~

= Ualues for p_priority =~
def ine PPRI_NONE
def ine PPRI_TASK
def ine PPRI_SERUVER
def ine PPRI_USER
def ine PPRI_IDLE

% 3lot is not in use =/

+* Part of the kernel =~

+#= System process outside the kernel =~
s#= lUser process =/

s* Idle process =/

W LD D S

F. T n v AORTREEERTEBLRERL D, ZOMI THRT LB TEET,

THY s (R RO

/usr/src/kernel/proc.c ® 326 1THIZ, ready ) WO BB H Y £7,
OB, TETRDB] Whbr T nkRe, EET—TANLHEVWE L TEITAIREIC



T O TY,

FIFRIZ 369 17TH @ unready O, FEITIRENKDAI L LTWAH T rERAE, ROHE
1T AT BT ICRTUEEZIT> TWET,

M7 7AMZH 5B schedD DAy hEGHATHTFEN, 207 oA,
RWZEEVTEnb, S TETARE) 27 e ARHUTELHIZEVEZ 5]
EEPNTVET,

Z® sched DAWHE —FBLHESIH L TWDHDIE clock.c TTR, ZD7 7 A LIC
&% clock_handler() (418 1TH) DAL hERTHDE, ZOT R ADYY
BT HIRFIR DN DRLT N E BnET,

ZZ T, proc.h D7 AEEERDNRT A—2%RTHhbL, user time in ticks
Ersys time in ticks EEDPNTWVWHAEHENRH Y £7°,

B, FOF e RN MINIX VAT A ETENET ORISR L T 7% fldk
LTWDHOT, IR/ X LT TRE] $27200miEL2R-> TW\D Z LAbny
EJu N

¢#* If a user process has been running too long, pick another one. =~
if (-—sched_ticks == 0) {

if (bill_ptr == prev_ptr) lock_sched(); »= process has run too long =~
sched_ticks = SCHED_RATE: s#* reset gquantum =~
prev_ptr = bill_ptr: /% NEW Previous process =/

H
¥

clock.c ® 173 1THIZ, EDOXHIRFLERNBZH Y £33, ZZ T, clock.c DX A~
B IALT, Btttz 4t L 512, ThF D F/tick tack) EWRFINZIFEN T, [
HEFE 3> CWnW& . BallZ b d EERd X 912 lock_sched O MNFEFONH ENE T,

T, b RICK LT TBEHTEEY &7 W yEELZHTZ LIz 7,

Ta AQEBRT — 7 E, B —RVNTIE ERLO proc. h OfER proc TEFR I
TWETRH, AEFUEH (mm) T 7 AL AT A (Fs) TIZFNFNAMSTL L CTEH
T—TNEFEoTNET,

/usr/src/fs/fproc.h TliL, 77 AN AT LANTHHA L TW5D 7 ot 2 &G
ERLZEDHRET, ZOT7 7 AL TIE, FZZOT o EARMEH L TWD inode
EHE (UNIX D7 7 A VY AT LAOEHES) 2 EOEREH > TOET,
/usr/src/mm/mproc.h Tid, AFVEFHNTHEAHAL WD ok A EHEHRE LD
ZEAHRET

LIFDa A Mg THTREY,



#» This table has one slot per process. It contains all the memory management
information for each process. Among other things, it defines the text, data
and stack segments, wids and gids, and wvarious flags. The kernel and file
systems have tables that are also indexed by process, with the contents

of corresponding slots referring to the same process in all three.

¥ K % X

*/

EXTERN =struct mproc {
struct mem_map mp_seg[NR_SEGS1: = points to text, data, stack =~

char mp_exitstatus: »#* storage for status when process exits =~
char mp_sigstatus: /= storage for signal # for killed procs =~
pid_t mp_pid: ##* process id =~

pid_t mp_procgrp: #=% pid of process group (used for signals) =~
pid_t mp_wpid: #= pid this process is waiting for =~

int mp_parent: ##* index of parent process =/

Tt AEHICET A Y — A a— RERDOEOZREIZLTFE,



